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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 3421239654 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 3421239655 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421239656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 3421239657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421239658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 3421239653 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 3421239654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421239655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421239656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 3421239657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421239658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123382
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421239659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 3421239659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421239660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/186



8/31/24, 10:32 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421239660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421239661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421239661 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 3421239662 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421239662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 3421239663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421239663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had

B. S[H

C. USHIS]

D. Hd1g

E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1. Hdd B, D 3R E

2. Had A, C 3R D

3. Had B, C 3R E

4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421239664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421239664 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421239665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421239665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 3421239666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421239666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421239667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2
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3.3
4.4

Question Number : 14 Question Id : 3421239667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421239668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421239668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421239669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421239669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 3421239670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421239670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421239671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421239671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 3421239672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 3421239672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 3421239673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421239673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421239674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 3421239674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421239675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421239675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421239676 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421239676 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421239677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 3421239677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 3421239678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 3421239678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421239679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421239679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

31/186



8/31/24, 10:32 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421239680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421239680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 3421239681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 3421239681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UTdidd faaH
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421239682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421239682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 3421239683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 3421239683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421239684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421239684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421239685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421239685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 3421239686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421239686 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421239687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421239687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 3421239688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 3421239688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421239689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 3421239689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421239690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421239690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421239691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 3421239691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁlﬁﬁf@ﬁﬁ%ﬂﬁﬁﬂﬂmﬁﬁﬁaﬁmmﬁﬂﬁwwm?

s Gl\'j Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421239692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 3421239692 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 3421239693 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

47/186



8/31/24, 10:32 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 40 Question Id : 3421239693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421239694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 3421239694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421239695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421239695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 3421239696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 3421239696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421239697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 3421239697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421239698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421239698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
1 g

A |0 L |<fiemadt
B. |qifort II. |@erIRd
C |amug 11 | 3pTeardt
D. |umREE | IV |3yl

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL B-IV, C-IIL, D-I
2. AL B-IL, C-IV, D-I
3. AL B C-IV, D-I

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123383
Question Shuffling Allowed : No

Question Id : 3421239699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 3421239700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421239701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421239702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421239703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 3421239704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 3421239699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 3421239700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421239701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421239702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421239703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. B9 WfUPTRAT 9 Y1 Uga Bl 3fHId

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 3421239704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. A AR 0 9 Uh

Options :

1.1

2.2

3.3

4.4

Social Medicine and Community Health

Section Id : 342123130
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123384
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421239705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Chemoprophylaxis of malaria is:

. Primordial Prevention

t2

. Primary Prevention
3. Secondary Prevention

4. Tertiary Prevention

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 3421239705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR BT FURNIRIEH (HHUGE ) § -
1. URTH® AHU™H

2. YIS AUHUH

4. JdI® AHYUM™

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 3421239706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The situation where two people having similar Body Mass Index (BMI) but different amounts of
body fats is called as:

1. “Twin’ paradox

(]

YY" paradox
3. ‘XY’ paradox

4. *XX' paradox

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 3421239706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qg fRufd w1 <l el & <18t o S (sl TH. 3ffs.) §HH difdsd IR a81 & AR o=
gl 5. el &-

L. g - faRIyg / fgq iRrsiad

2. «yY” /" dlg - dg" faRIeTHN

3. 4XY™ / <Ud - dl5 faRIemHy

4. XX /<0 - Uag [aRIeTHTY

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 3421239707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following study types is done “with population as unit of study?”

1. Retrospective Cohort Study

t2

. Cross-sectional analytical study
3. Ecological study

4. Case reference study

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 3421239707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁaﬁéﬁaﬁﬁﬁm AT UBHR B SHUS & A DI Uh 315 & U H ddh (bl
Sl -

1. gduTdl (Reredided) Higid i
2. yfafiee gag [azdyund S siea-
3. gIRfYfae T ey

4. B FH Y
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421239708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following best represents the basic physiological requirement for drinking
water just for survival?

1. | litre per head per day

(]

. 2 litres per head per day

ad

. 5 litres per head per day

4. 12 litres per head per day
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421239708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaiRad 9 9 o1 age Slifdd 384 & o Ugeld &l gayd ANIRS 3a2dadl & 48 U 4
TERId HIA1 g 2

1. Tfd ofdd wfafe e diex
2. Ufd eafad ufdfe el ciex

3. Ufd eafad Ufafe o dter
4. Ufd afdd ufdfed IRg dlex

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421239709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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As per the Indian Public Health Standards, 2022, Community Health Officer (CHO) is posted at
which of the following levels?

1. Urban HWC-PHC
2. HWC-PHC
3. UHWC

4. HWC-SHC

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421239709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRAR SRR D 2022 & YR YHeRis W s (@ @ ol ) S Fgfad
frafeiRad wRi O 9 fhg )R el g -

L. e U Sy 1 - v
2. Ug g |l - gl o

3.4 Ud. Sy 4l

4. U4 3l - Tq.U 4l

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 3421239710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The situation where “a person is unable to count fingers at a distance of 6 metres’ is called as
what blindness as per the National Programme for Control of Blindness and Visual Impairment
(NPCB & VI)?

1. Social blindness
2. Economic blindness
3. Manifest blindness

4. Absolute blindness
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 3421239710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EPEIHdT 3R =P a141 & T & ot AP HrdhH (U448 &1 Td d1.215.) & IR, 98
fRufa oa ofad 6 Hiex @t ot ¥ Inferat &t e o3 7 318 ST 8, hoelial -

IS EfPgIaT
e EfFgIar

. 3ifHodd EfPelHd
4. quf fPEdI

Options :
1.1
2.2
3.3
4.4

p—

2

L¥S]

Question Number : 57 Question Id : 3421239711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In which year National Digital Health Mission was launched?

1.2014

t2

. 2017
3.2020

4.2023
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 3421239711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1Y f3fored ey e (69 9y Ry ganur»

1.2014

t-2

2017
3.2020

4. 2023

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421239712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used for graphical representation of Quantitative data (Nominal
and Ordinal)?

|. Histogram
2. Line Chart
3. Bar Chart

4. Box and Whisker Plot
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421239712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS SHBa! (AHYRS 3R HHYID) & HRW! UERH & U FEfdaiad o 9§ feadw
ST el ST Hehal 8 2

AP
2 G149
3. gRdre

4. 91 U4 fgqdm wile

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 3421239713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Anemia Mukt Bharat Abhivan. the dose of Iron and Folic Acid for weekly supplementation
for children 5-9 vyears of age is:

1. 100 mg elemental Iron and 500 ug Folic Acid

]

. 60 mg elemental Iron and 500 ug Folic Acid
3. 45 mg elemental Iron and 400 ug Folic Acid

4. 20 mg elemental Iron and 100 ug Folic Acid

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 3421239713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TP (YedTeddn) God URd SR, & 3fdiid 5-0 94 D1 3 & d=di & ol Biferd st
3R 3TRA Bl Il R WdH DI A G -

1. 100 mg UciHEA 3TRA 3R 500 ug BIfdd 3
.60 mg TaiHed HERA 3R 500 pg Hiicid R
.45 mg TaTHed 3R 3R 400 pg Hiicid 3R
4.20 mg TeliHed 3TERA 3R 100 pg Hifcld 3R]

Options :
1.1
2.2
3.3
4.4

I

L

Question Number : 60 Question Id : 3421239714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘DASH’ term in DASH diet stands for:

1. Daily Activity to Stay Healthy

7

2. Dietary Approaches to Stop Hypertension
3. Daily Advancement to Stop Hypertension

4. Dietary Acknowledgement to Stay Happy

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 3421239714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S (31.YTH.TA.) 3R H E1.U.TH.TF &I 3T TH g-
TR g1 & fau SF® forardand / ST SR 4firH (Sl Ufaefdd ¢ @ gl
I Y@ Bl AP o (o SR AT (ST Ty ¢ ©1d gRmReTH)
3. Fd T Bl A & 1T S Ui (Sl TsaiHe ¢ Wi grgmRee )
4. WA X1 & foTg SeRT Wi (STaedl Tarlersive g % gull)

Options :
1.1
2.2
3.3
4.4

—

g

Question Number : 61 Question Id : 3421239715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the Community Development Programme, the rural areas of the country have been

organized into Community Development Blocks. Which among the following statements is NOT
correct?

1. The Community Development Programme was launched on 2nd October 1952

]

. The Community Development Block consists of about 1000 villages
3. The Community Development Block consists of about 80,000 to 1.20.000 population

4, The Community Development Block is headed by a Block Development Officer

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 3421239715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UG (S SriHd & A, S & UTHT & &I YHelidd f[abr |us| d iféd
for man ¢ | FEfeiad § 9 & 91 $o- U8l 481 82

I e fhr SrRIhEH B 2 faqdsy, 1952 H 3R fbar g o7 |
2. YrcTi® [d6hrE TS o T4 1000 79 Sl 6

3. GRS fahTg T T THIT 80,000 H 1,20,000 BT ST-EET Bl ¢
4. CT® [dHME WS & e Ws (A fUHRI gld gl

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 3421239716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT part of 4 basic principles or law of probability?

1. The probability of an event that cannot occur (impossible event) is 0 (zero).

t-2

. The probability of an event that must occur (certain event) is 1 (one)

L8]

. Each probability can be a number between 0 (zero) to 1 (one)

4. The sum of the probabilities of all possible outcome of experiment can be more than 1

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 3421239716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafeRad 7 9 oI 91 Wi dl & 4 \ifdd Reidl srdr fFam o1 4T el 6 2
fopdt Ul w1 &1 Uiilidsdl o () il © Sl 81 8l Yobdl § (YT Te0) |
Bt Uit e ol Wil 1 (Uap) BIcil § ST Sfa=y "ied gidl § (Fad ge)|
3. U UG dl o () T 1 (TH) & oid DI T2 5l Gohdll

4. THI&01 & G Yya TRUHAT B W13 &1 I U 9 34fUd gl Jbdl 5|

Options :
1.1
2.2
3.3
4.4

—

-2

Question Number : 63 Question Id : 3421239717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A six month old child with cough, respiratory rate of 56 breaths per minute and no other danger
signs/stridor, will be classified as colour category and diagnosis of as per
Integrated Management of Neonatal and Childhood Illness (IMNCI) guidelines

. Pink, Severe Pneumonia
2. Yellow, Pneumonia
3. Green, Cough or cold

4. White, Cough or cold

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 3421239717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3¢ HIg &I g=1 o1 @il 8, 56 419 Uid FHe 3 Y97 R ¢, AR Bl 3 G & ddd
3] WIS el [ ol 8, Bl Ubidd Aaulld 3R &Tel I YsleH (TS TH.UA.UL3AE.) &
mﬁﬁﬁgaﬂﬂgﬁm W%Uﬁéﬂf\uﬁsq}uwrwraﬂiaﬂaﬂﬁaﬁi

PEU R .

R GICIRIE AR LI EEs|
2. gia, Faiar

3. 8Y, Wil SR udl
4. qthq, Tl 3R

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 3421239718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Management’ consists of four basic activities, in theory. Which one among the following i1s NOT
one of the basic activities?

1. Forecasting
2. Monitoring
3. Organizing

4. Planning

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 3421239718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A H Y U AH T8l 6 2

1. gaigaH
2. \ifefar

4. IS 9

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 3421239719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Randomized controlled trial comparing the efficiency of two drugs showed a difference
between the two (p-value < 0.05), when in reality they do not differ. This is therefore an example
of -

1. Type I error ( o)

b2

l -

L8]

. Type II error ()

4.1-p

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 3421239719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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<l STt B gHIEIdIGdhdl B ga-1 & ford fhU 7Y Arefesd Fafd wRigon 4 aHl & dih
AR G (p - HH < 0.05), did dRAddHdl H 390 Bls 3R el Y11 3fd: U Udh 3cIg 0 ¢

1. TRU 1T (%)

2.1 -

3. TRII I (B)

4.1-B

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 3421239720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following terms best fits the definition: “the day-to-day follow-up of activities
during their implementation to ensure that they are proceeding as planned and are on schedule™?

—

. Budgeting

I

. Communication
3. Evaluation

4. Monitoring

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 3421239720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafcRad uel # U &I 91 34 URHT & folt 999 Iugdd ¢ - “fhaidbanl & fharaga &
GRM 3ADI &S SFHA (Wil ) Ty R 81 U & d TSH1 & SR Wiid &
g g 3R 3md YR gHg wgig g

1. SolIhRu]
2. gHIU[

3. JedihA
4. AT

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 3421239721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given options which option is NOT a direct step by Government of India to control
poverty?

1. Integrated Rural Development Programme
2. Drought Prone Area Programme
3. Sparsh Campaign

4. National Rural Employment Programme

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 3421239721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A feU U famedl # ° &iF 91 fddhed TRId! 8301 & et HRd WRBR gRI 337 T Y&l
HEH Tl © -

L. Ul ATV fabTy Brdhd
2. g1 YT &3 Hrdhd

3. e 3fHaE

4. TSTT ATHION AR HdDHH

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 3421239722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Sustainable Development Goals (SDG) 2016-2030, a target under which goal is
related to achieve universal and equitable access to safe and affordable drinking water to all:

l. Goal 3

2

. Goal 4

3. Goal 5

4. Goal 6

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 3421239722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qdd [dhTY Ted (TH.S1.51.) 2016 - 2030 & YR dg 24 (eFic) fSud Sfdvid ¥t & feu
YRIA 3R -0 Uaed & Grauiiid 3R THH Ugd ¥ WEiEd 78 & Ui HA1 g 2

1. c&d 3
2.¢l&d 4
3.¢&9 s

4. cl&d 6
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421239723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One of the points to be considered in a Sanitary Well is that there should be a pucca drain to carry
off spilled water to a public drain or pit; constructed beyond the area of drainage of the well.
Which among the following is another term for “area of drainage’?

1. Arc of filtration
2. Bed of filtration
3. Cone of filtration

4. Cube of filtration
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421239723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[Ty &7 & oY fgfaRad § 9 169 31 2reg &l YA {61 Sl 82

1. Fea 9y
2. e U
3. fEeT 9
4 (&9

Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 3421239724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Ayushman Bharat - School Health Programme, the frequency of classroom transactions by
“Health and Welllness Ambassadors™ should be -

1. Daily
2. Weekly
3. Fortnightly

4. Quarterly

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 3421239724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T HRd Whol WA HRIGH & Sidiid WA 3R SHedlu] TS gRI SR YurG
FHef ST BT e g AT -

L&D

2. g

3. OTiéf (15 f&)
4. AT D

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421239725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Emporiatrics 1s related to -

1. Science of the health of workers

[~

. Science of the health of travellers

Ld

. Science of the health of elderly

4. Science of palliative care

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421239725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. PIHD] & W BT a7
Il & W & fagH

gGoHl & W &l fagH
4. IULMHEH G BT faqiH

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 72 Question Id : 3421239726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Decrease in dependency ratio because of decline in fertility until it starts to rise again because of
increase in longevity - this period is termed as-

1. Demographic Burden
2. Demographic Bonus
3. Demographic cycle

4. Societal Dependency Ratio

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 3421239726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. SIS aid
2. SHIREAD G 9
3. SRR
4. G FHRAT 3iUrd

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421239727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given scales for social stratification which was used in National Family Health
Survey (NFHS) - 47

1. Kuppuswamy's Classification
2. Prasad's Social Classification
3. Wealth Index

4. Pareek's Classification

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421239727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YIS TRIGI0 & ot f§T 71T Fffheur/ Gaoie # ¥ fhad1 3ughT I9g uRaR Wy
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1. U] FiffHur

2. UTG HIHISI Gl
3. JueT FifHRoT

4. QTR BT

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 3421239728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Ayushman Bharat -Pradhan Mantri Jan Arogyva Yojana (AB-PMIJAY), the health coverage
amount provided per family per vear, as of June 2024, is -

1. Rs. 2 Lakh
2. Rs. 3 Lakh
3. Rs. 5 Lakh

4. Rs. 10 Lakh

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 3421239728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.2 R 9
3 AR
3.5 A B9

4. 10 IRG ¥4Y
Options :
1.1
2.2
3.3
4.4

I

Question Number : 75 Question Id : 3421239729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Planning in its broadest sense includes three steps.
Which one of the following is NOT one of the three steps?

1. Execution
2. Hypothesis testing
3. Evaluation

4. Plan formulation

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 3421239729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. feharaa4
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3. i
4. o1 (A=guT / i

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421239730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following method is used to calculate Standardized Mortality Ratio (SMR)?

1. Direct Age Standardization

(]

. Indirect Age Standardization
3. Randomization

4. Regression

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421239730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fharSmarg 2

1. UHE 3 AFBIDHI]
2. UG 3T HHBIHRT
| T

4. Ofam

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 3421239731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Home Based Newborn Care Programme, in case of institutional delivery, ASHA makes
home visits to the newborn on the following davs:

o33, 21, 28 42

[

-1,3,7, 14,21, 28,42

3.3,7,21,28,42

4.3,7, 14, 21, 28, 42

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 3421239731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR 3TN Td9Id GEHTA HIAHH & dgd SRITTd UHd & A H. 32 T99d & R IR
ffeIRad feai # SR1 & -

L1 3, %21, 28,42

I

-1,3,7,14,21, 28,42
3.3,7,21,28,42

4.3,7, 14, 21, 28, 42

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421239732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following i1s NOT a social issue in Marriage?
1. Female Equality in Marriage
2. Child Marriage
3. Divorce

4. Genetic Matching

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421239732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. ddldh

4. AR i
Options :
1.1
2.2

3.3
4.4

—

f-2

Question Number : 79 Question Id : 3421239733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following schemes has been launched to improve quality of care in labour-room and
maternity OTs in public health facilities?

1. SUMAN
2. ANMOL
3. LAQSHYA

4. MAA

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 3421239733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad o ¥ S I g4I 5 Wil giaemsi ® Ugid - 499 3R U {1 d Saurd o
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1. gH- (SUMAN)

2. 3FHIA (ANMOL)

3. &4 (LAQSHYA)

4. {1l (MAA)

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 3421239734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following best fits the definition:

“the orderly process of defining community health problems, identifying unmet needs and
surveying the resources to meet them, establishing priority goals that are realistic and feasible and
projecting administrative action to accomplish the purpose of the proposed programme™?

1. National Health Budgeting
2. National Health Mission
3. National Centre for Disease Control

4. National Health Planning

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 3421239734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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& Y& R Pl it Ulhar?

1. AP W G910l
2. AP W fHeH

3. P AT g g
4. TP e s

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421239735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Attributable Risk™ is best defined as which one among the following definitions?

1. Difference between Incidence among Exposed (Ig) and Incidence among Non-Exposed

(INg)

2. Ratio of Incidence among Exposed (Ig ) and Incidence among Non-Exposed (Ing)
3. Sum of Incidence among Exposed ( Ig ) and Incidence among Non-Exposed (Ing)

4. Product of Incidence among Exposed ( Ig ) and Incidence among Non-Exposed (Ing)
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421239735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ISRyl o gfed 8H SIS Y T URIRS I ) 3R SSdl § ufed giH (3diey 271
AHTRIES) (Ing) P &1 3R

2. JNRGl | 8fed 8 (Ip ) 3R NGl H 9fed 8 (Ing) T 39T
3. IS H =fed 8H ( Ig ) 3R SHSRIA! | 9fed 81 (Ing) BT AN
4. FENGl H 9fed 8 ( 1y ) 3R SRR § 9ed 8 (Ing) 1 I0FHA

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 3421239736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Termination of pregnancy with combination of Mifepristone and Misoprostol is allowed in India
up to gestational age of:

1. 6 weeks

]

.7 weeks

3. 8 weeks

4. 12 weeks

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 3421239736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URd H AfhUReH SR el sfufedt & Jare- § T U0 &4 & =afd
®I Y dd ¢ -

. 6 {tdlg

—

I

.7 Htdle

L

. 8 {tdlg
4. 12 {idle

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421239737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given qualities all are the qualities of Joint Family EXCEPT:

1. Joint Property

t-2

. Filocentric
3. Common Residence

4. Mutual Rights and Obligations

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421239737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 TS faRaredt # ¥ 38 SiaRad o= g+l Yydd URaR o [9RIvdni ¢ -
Ugad grfd
Hdd
Ud ol Farg -
4. JRERS HUHR 3R e

Options :
1.1
2.2
3.3
4.4

—

f-2

L

Question Number : 84 Question Id : 3421239738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Assuming Normal distribution of a data, having mean of 150 and a standard deviation of 15

which of the following best represents the 2 values between which approximately 68% of the data
will fall:

1. 120 and 180

]

. 135 and 180
3. 135 and 165

4. 120 and 165
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 3421239738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U 3fidhs (S¢T) & YA fdaR0 & A1 Bl 150 R D fddad ®l 15 A IR FgfaiRad
HY DI Y 34l AFl D 98 UalRid Hd g foHd did Sid- 68% 3Hids 3MId g 2

1. 120 30X 180
135 3[R 180

I

3.135 3R 165

4. 120 3R 165
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421239739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of live births per 1000 women in reproductive age group in a given year is:

1. Total Fertility Rate

(]

. General Fertility Rate

L

. Gross Reproduction Rate

4. Net Reproduction Rate

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421239739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fopdt fou 10 99 o Uo o o 31 Ufd 1000 Afgamaf # Sifad S &1 T dgard ¢ -

P AT X

—

f-2

HTHT S &HdT X
3. 4D - X

4. A TR

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 3421239740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given options, which option is NOT a type of objective unemployment?

1. Seasonal unemployment

t-2

. Sickness/illness related unemployment
3. Cyclic unemployment

4. Structural unemplovment

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 3421239740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A< faU U [qhedl T 9 D9 U1 [ddhod TR (Hlssifded) sRISTRI &1 Uh UhR el o2
L. T SRR
3. dfdhd RIS

f-2

4. YETHD / SN sRISHTRT

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421239741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Government of India, Rights of Person with Disabilities Act, 2016, the term *deaf” is

defined as a person having more than ° " db hearing loss in speech frequencies (250 Hz to
8000 Hz) in both ears.

4. 80
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421239741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HRd DR & Ao UGR AT 2016 B IR eg <dR I UY Afdd & &Y
o uRyIfd fobar ¢ f5gd g4l ol 1 91 errgiial § 4aur g1 (250 8¢9 ¥ 8000 §¢H)
S1dl 4 afftre gidi g

f—
A
=

t-2

. 60
30

4. 80
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 3421239742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Janani Suraksha Yojana (JSY), how much financial assistance is provided to a mother in
rural area of a High Performing State for her institutional delivery (as of June 2024)?

1. Rs. 600/-
2. Rs. 700/-
3. Rs. 1000/-

4. Rs. 1400/-

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 3421239742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST GRET FISHT (75Y) & fdid YRIFTA Ugfd & ol 3= UG did 9 & 91 &3 o
i &1 &1 S dTell fo<iia Sgrdl & 4RI foh =11 8 (97 2024 & 3IR)

1. %. 600/-
2. %.700/-
3.%.1000/-

4. %.1400/-
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 3421239743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following i1s NOT a feature of social change?

1. It is a community change

(]

. The process of social change is not uniform
3. Change may be natural or planned

4. Forecasting of change is very easy

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 3421239743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafafad ® 3 & I arHsis TRdd- &1 [9Rivdar g1 § -

U YETg® ikdd g
 HISE URad= &f Ui ThaHHE Jel © |

. GRdd UTidds 314dl FIoHIds 6l Gbhdl g |
4. IREd B Y@l ST 984 A g

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 90 Question Id : 3421239744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT part of five key action areas as mentioned in Ottawa Charter?

1. Create supportive environment for health

t-2

. Strengthen community action for health

L8]

. Develop personal skills

4. Build Public-Private Partnership

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 3421239744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFraffad & 9 & 1 -~3fierar 91dy | Iifad Uid 0 $1f & ig& el § -
R & T Ggrges ardiarol fHiHd S
AR & T YIRS ST DI TR DAl
3. AT BIel Bl fddh R HIAT
4. Aol - it yriierRT FAfEd s

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 91 Question Id : 3421239745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in process of Behaviour change from first (start) to last (end)?

A. Adoption of new behaviour
B. Concerned

C. Informed

D. Motivated to change

Choose the correct answer from the options given below:
1. A D, C. B
2.C,B,D, A
3.B,A,D,C

4.D.C.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 3421239745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AdgR YRGdA D1 Uihdl & [HHfIRad <RIl &l Ugd (MRiHd) I 3ifdH (JAU®) H Haiiyd
” 1_

A. U HGER &I ATAME]
B. WIHR BT

C. SF®HR gHl

D. URgd & o1 URd g1

i fu U fad el § 9 @81 IR &l 994 Diflu;

1. ADCB

[

. B.BA
3. BA DT

4 D.C.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 3421239746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following programmes/interventions/schemes for health of women and children in
chronological order (oldest to newest)?

A. Integrated Child Development Services Programme
B. National Family Planning Programme

C. Reproductive and Child Health Programme

D. ARI Control Programme

Choose the correct answer from the options given below:
1.A B, C,D
2 DA C B
3D 0

4.B,A, D, C

Options :
1.1
2.2
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3.3
4.4

Question Number : 92 Question Id : 3421239746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aigeaf SR Tl & Wred & [y HafaRad Srisdl / gxaadl / a3 & bl hH
H Ay d DIfST (T Ui I g6 4d1H)?

A. THIDd d1ct [ahI JdT HRiH

B. V1Y URAR i Srisd
C. S 3R 91d Wy HEHH
D. U.3R. 3. (U0 S1dhH

I feu U 9wl § 9 8T IR B 99 DIIT;

1.A B CD

2.D,4,C,B
3.C.D.A,B

4B, A, DC
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 3421239747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Among the given options for clinical progression of Rabies disease in man, identify the most
appropriate sequence.

A. Aerophobia, Hvdrophobia
B. Bite

C. Paralysis and Coma

D. Death

E. Prodromal Stage

Choose the correct answer from the options given below:
1.B.ACED
2.B,E; A C,D
3. B, AE €. D

4.B,E,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 3421239747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Yailol AT D1 A0 YT (Fedii-idhe UHRH) & fGU U fddhedi O 9 Y9 Sugdd
3T i UgdH Difold - 2

A. Il (TR 3R Sadiedl (SEsihiie)

B. IcHl
C. T&ITUTd 3R B

D. 4
E. Qd&U (IS ) A’

A feu T faw el § ¥ gt IR B 99 DIIT:

1.B,.A CED

SB.EACD
3.B,A,E.C,D

4.B,E,C,A,D
Options :
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1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 3421239748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is the correct sequence of steps in a Planning Cvele, starting from the
step of ‘formulation of health problems™?

A. Collection of data for evaluation

B. Implementation of the programme

C. Assigning priorities among problems
D. Defining programme objectives

Choose the correct answer from the options given below:
A B D¢
2.B,A,C,D
3D B A

4.D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 3421239748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR qHE & Y0 & RO Y SRY 3R gU FRfaiad # ¥ oH W s 96 &
=R BT TG 3IhH 62

A. JelidH & [e1U 3fidsi bl GUgul

B. BTUHH I fbar-aa

C. gEEel &1 UrYHEdl & YR R HYR
D. BIUHH o Il Bl URHINT HIAT

A1 feu U faswhedl § ¥ gl IR B 99 DIIT:

1. A, B, 1D, C

2.B,A,C,D
3D, B A

4.D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 3421239749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following steps in investigation of epidemic (outbreak) from starting (first) to end
(last)?

A. Defining the population at-risk

B. Verification of diagnosis

C. Testing the hypothesis

D. Confirmation of the existence of an outbreak (epidemic)

Choose the correct answer from the options given below:
A& B I
2 DA C B
3B, C, B A

4.B,D. A, C

Options :
1.1
2.2
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3.3
4.4

Question Number : 95 Question Id : 3421239749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fall AGMRT (U IU) B Siid & HfaRad =Rl &l ugd U 31Rad] 9 Taieyd $ifo -

A. SIRGAYE ATEE! & URYUTNT BT

B. &M &I gfF &3

C. ORI BT G0 HAT

D. f ! Uh!T (HETHARY) & UL S &1 gfF BT

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A, B, D, C

2.0 CH
3B, C.D A

4.B,D. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421239750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stages of the demographic cycle in chronological order (earliest to latest)?

A. Low Stationary
B. Late Expanding
C. High Stationary
D. Declining

Choose the correct answer from the options given below:

1.ABCD

t2

CBA D
3P4 B C

4.B,C, D, A
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421239750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHYIRAS T 9% & HEfaRad ROl &I SIAHH TS HH H (Fa9 URH 9 AdHdH) SFad
" 1_

A A VS
B. fadifad fazart
C. 3 VA&
D. &H / &0 gl
< fGu T fae eyl § 9 @@t IO &1 994 Sifsu:

1.A,;B,C,D

2 CBAD

3. DABC

4.B,.C,D. A
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 3421239751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The words used to describe the end results of planning are - objectives, targets and goals. Which
one among the following best represents the descending order (top to bottom) of these terms
considering from broadest to specific?

A. Objective
B. Target
C. Goal

Choose the correct answer from the options given below:
1. A B, C
2B, CA
3.C,A.B

4. A C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 3421239751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST & 3 URUIMHET &1 aiold &+ & et SUTiT fbU Sl dlel Ueg g - 3524, elie / €
3R A& | (EiRad § U B9 U1 f[ddhed 24 Xeal IR A0S Y [ARY IR [G9R $d gU Sarig!
HH (SR Y ) # I Ig1 dRid 9 UaiRid $Rd1 g2

A. 3
B. ¢l / &g
c. a9

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI

1.A,B,C

]

. B, C, A
3.C,A,B

4 A.C.B
Options :
1.1
2.2
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3.3
4.4

Question Number : 98 Question Id : 3421239752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given options, which sequence best represents the descending order (from highest to
lowest) of proportion of community describing ‘rule of halves’ for hypertension in the
community?

A. Adequately treated

B. Total hypertensive subjects
C. Initiated on treatment

D. Diagnosed hypertension

Choose the correct answer from the options given below:

. C.& B.D

[

- ABCD
3.B,D.CA

4.D,C,B,A
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 3421239752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fGU T fad el o O &F 91 9 ¥ 3= Idd41] (BIEURCYH) & foll <&d {1 gloq &l
aﬁhmﬁaz%w%agqm%&mw (IS TH Y THdH) D Tad T8 Kb T
PHEGGAGIEE

A. 3 9 9 Iudd Afdd

B. ©d 3= Iddd1Y Uifsd Afad

C. SUAR RY HR g Afdd

D. 3= Yadd1q DI e gl g Al

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1. CLA.B.D

2. A, B,C. D
3.B;,D,.CA

4.D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421239753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the options given, choose the sequence which correctly represents the Treatment of Drug
Addicts?

A. Motivation

B. Identification

C. Detoxification

D. Rehabilitation

E. Post detoxification counselling

Choose the correct answer from the options given below:
1.A,B,C,D, E
2.E.AB.C,D
3B, A EE D

4.C,A,B,E,D
Options :
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1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421239753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d &3 U f[qhetl & U 39 3 d ol JiHU Sl 471 & 31 HAldadl & IUdR &l 9l diid 4
S HRAT G -

A. TROT

B. UgdH
c. FAfadieon

D

Eﬁwﬁﬁiﬁwwﬁ[m
A fSu U fasmedl § 9 98T 3R 1 994 DHIoIU:

1.8, B G D E

2:E & B C. D

3.8:; A, C,E, D

4. C,A,B,E.D
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 3421239754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following Health committees in correct chronological order (oldest to newest) of
their recommendations for Indian health care system?

A. Shrivastav Committee
B. Chadha Committee

C. Bajaj Committee

D. Tungalwalla Committee

Choose the correct answer from the options given below:

1.D,B,C,A

b2

A C DB
3. B, DAL

4.C.A,B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 3421239754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRad ey giufaal & YR W S@yTd UMl dF & 6 3d! b &
YR IR Hel HIAh Hd HH (UTHHTH U Tdi-dH) H Tafed HIfo -

A. idr&dg gfAfa
B. 991 9fafd

C. Sorl giAfd

D. ScIdTel 9fafd

A [Su TU [d&edl § 9 ¥8T 3R &l 994 DI

¥
1.D,B.C, A

]

A CD.B

3.B,.D.AC

4.C,A,B.D
Options :
1.1
2.2
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3.3
4.4

Question Number : 101 Question Id : 3421239755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following dietary fats and oils consumed in India, as per their increasing (lower to
higher) order of percentage Saturated Fatty Acids (SFAs) content, as per the ICMR-NIN Dietary
Guidelines for Indians, 20247

A. Coconut oil
B. Ghee

C. Groundnut oil
D. Mustard oil

Choose the correct answer from the options given below:
1A C,D,B
2.B,D, CA
3.C,AB;D

4.D,C,B,A
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 3421239755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3T 1.0, 3R-UA.3TE T, Dl YRl & o180 gRIF fe=M—eR, 2024 & AR HRd |
U U S drel Fafeiad sigiia aqredi SR ddl &l 34 Uil S dred St 997 il
(UH.UF.U,) & U & SR d¢d HH (HdH I 3ffUdad) § oadiyd SHiforu -

A, TRGA ®B1dd
B. ©l
C. Hihell & de
D. 93l &1 dd
1 fGU U fasedl 7 U gt I &1 904 I

1.A,C,D,B

2B, D, C A
3.C,A;B.D

4.D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 3421239756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given phases. which sequence best represents the phases of family life cycle starting
from the phase of *Formation’?

A. Extension

B. Dissolution

C. Complete extension
D. Complete contraction
E. Contraction

Choose the correct answer from the options given below:
1.A,B,C,D, E
2.8 CUE DB
3B, E BN E

4 C. D EX.B

Options :
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1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 3421239756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 118 WIaRII3HT H I 91 3HHH HHI (URAR & &) DI UIGRIT Y SR $Hd gu
UTRATRS® Sila-Tdeh B a1l Bl Tad 33l kg ¥ UaiRid Bl g -

A fa@R
B. fdgeq
. quf faedR
D. J0f Y=
E. Gpd
A fSu U fasmedl § 9 98T 3R 1 994 DHIoIU:

1.8, B G D E

b2

A CE DB

3.5, €, D AE

4. C,D.E,A,B
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 3421239757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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As part of the Triphasic oral contraceptive pill, choose the correct order of combination dose of
levonorgestrel (L- NGL) and Ethinvl Estradiol (EE) given for first 6 days of menstrual cycle, next
5 days and then next 10 days respectively -

A. 0.075 mg L-NGL and 0.04 mg EE
B. 0.05 mg L-NGL and 0.03 mg EE
C.0.125 mg L-NGL and 0.03 mg EE

Choose the correct answer from the options given below:

1.C,B,A
2.B,A,C
3.40.B,C

4.C,A,B

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 3421239757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Prarofimy PRIy el & Yo & HH J Aikd 98 & Ugd HHRE: 6 4, 3T 5 61 3R
fthR 3T 10 fe BT f&d S arell A d (L- NGL) 3R Tdfd TSaid (EE) Bl
TS WRID| & UG! b BT IT BiforU -

A. 0.075 T8 91 ddIFIed 3R 0.04 T, U1 vdfad vf3ard
B.0.05 . m?ﬁﬁg@aaﬁwogﬁr m@ﬁam%%um
c. 0.125 1. 71, AERed 7R 0.03 i1, 1. T wRfara

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI

1.C,B,A

2.B,A,C

3.A,B,C

4. C.,A B
Options :
1.1
2.2
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4.4

Question Number : 104 Question Id : 3421239758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following food items as per their increasing order (lowest to highest) of protein
content per 100 grams of raw food?

A. Cow's milk
B.Egg

C. Soyabean
D. Sugar

Choose the correct answer from the options given below:

1. A C,D,B

[

BiDoE A
3.CBAD

4. D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 3421239758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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afIRad A1 uerdf oI, 3d! 100 ATH YRS / S @i Yard § IURYd UIH &1 A
& AR ded HH (FEdd 9 I=dy) T dfyd $Hifer -

A T B Y
B. 3f31

C. gasH
D. dil

A fau U fadedl § U ¥8T 3R &1 994 DI

. Gl 2 1 2

2.8,D,C.A
3.C,B,AD

4.D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 3421239759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the given Panchayati Raj institutions from lowest (village) to the highest (district) level?

A. Zilla Parishad
B. Panchavyat Samiti
C. Gram Panchavat

Choose the correct answer from the options given below:
1A B, C
2.B.C,A
3.C,A,B

4.C,B. A

Options :
1.1
2.2
3.3
4.4
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Question Number : 105 Question Id : 3421239759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TS Ut IS SR13H Bl FEad (@) W I=dd (Foren) TR § Haiyd i -
A. Torar uRug
B. UdId 9ffd
C. UM Uardd

14 feu U fqhetl 9 F8T IR &1 98 HIfoIT:

1. A,B,C

2: B, C.h
3.C,A.B

4.C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 3421239760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Factor H. J and L can each individually cause a certain disease without the other two factors but
only when followed by exposure to factor Z. Exposure to factor Z alone is not followed by the
disease, but the disease never occurs in the absence of exposure to factor Z. Factor Z is:

A. Necessary
B. Not necessary
C. Sufficient
D. Not sufficient
Choose the correct answer from the options given below:

1. A and C only
2. Aand D only
3. B and C only

4. B and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 3421239760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRb (BhaeX) TS, 3R Ud U-3MT 3= &l HR! bl Ul & Ui fodi AT Dl a2
b 8. TR+ had SR oS D (610 F@ - EH W | dhad HRD oIS B el Je I AT
eI BT 8, A PRSP IS BT Iea 18 ARG H I HH TR S g1 PRI SIS © -

A, e
B. 3ifard gt
C. T
D. T Ag!

-4 feu e fasedt # 9 @1 SR &1 98 DT
1. Hdd A 3R C
2. ®dd A R D
3. HIAB AR C
4. HadB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 3421239761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are correct solutions regarding improvement of tanks in which
surface water is stored. as a source of water?

A. Addition of chlorine

B. Subjecting the tank water to some sand filtration

C. Edges of the tank be depressed (lowered)

D. A depressed (lowered) platform from where people can draw water

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3. B and C only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 3421239761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad # ¥ &iF ¥ Ul ¢l § YUR & folu Ugl 9HIeME ¢, SHH Sievdid & 9 |
Ydgield &I YSIRd fhar S g2

A. FARME B [HaMT

B. ¢l & ofd DI dIc] H < ol
C. TPl & [HARI HI3HaTHA GIEIRSEED
D. AF[Hd () TeHH Sgl § Afdd Ul o Udb

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. Hdel A 3R B
2. HIA AR C
3. ®HaAB AR C
4. &dd B AR D

Options :
1.1
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2.2
3.3
4.4

Question Number : 108 Question Id : 3421239762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the given options, which are the features of a community which make it different from a
society? Select the features which are seen in a community.

A. No common sentiments
B. Common sentiments
C. Concrete
D. Abstract
E. No definite boundaries
Choose the correct answer from the options given below:

1. A and E only

]

.C and D only
3. B and C only

4. D and E only
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 3421239762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fGu e fadedl & ¥ YHE & ag S 4l fa=vdid § il 39 99 9 i s9dl 81 Sder
f&xars < arell faiwdra o1 9g9 HIfou -

A. GAM Tdgrit &1 981 g
B. YA TdcA13{ &1 gHl
c.7d
D. 3d
E. @5 [HYid JiH0 9l
1 fGU U fasedl 7 U gt I &1 904 I
|. Had A 3R E

2. Hdd C 3R D
3. Had B AR C
4. Had D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3421239763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following options are correct regarding post-coital (emergency) contraception?

A. Levonorgestrel 0.75 mg tablet within 72 hours of unprotected intercourse and another tablet
after 12 hours of first dose.

B. Two oral contraceptive pills containing 35 mcg Ethinyl estradiol within 72 hours of
unprotected intercourse and two tablets after 12 hours.

C. Two oral contraceptive pills containing 50 meg of Ethinyl estradiol within 72 hours of
unprotected intercourse and two tablets after 12 hours.

D. Mifepristone 50 mg once within 72 hours.

Choose the correct answer from the options given below:

1. Aand B only

t2

. A and C only
3. Aand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3421239763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFofeiad ® 9 &F ¥ [q@ed GHT 9yTq (maradTar) TRIeA & g<H J T8 g -

A. SRIET TN & 72 Hel & 3faR fefdMISied 0.75 me 1 TTell 3R 3P 12 G TYIq
U1 TTTct &1 Yad

B. 3RRIET U & 72 42l & 3R 35 meg TAHA TR fSUTd gad &l RIS i
3R 34 12 °¢ UYIq GA: o Mical &l Ya-

C. 50 meg Ul TRTSTe g &l MTHRIYS Tferdl &1 SrRi&d G & 72 Hel & iR
3R 39y 12 H¢ GYIq Y: &l Mierdl &1 ad

D. 72 "el &b Uik HHUH 50 mg DI U el &l UhaR Yd-

- feu U fasett 7 ¥ @1 IR &1 99 DI
1. Pdd A 3R B
2. HId AR C
3. ®dd A 3R D
4.9ad C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 3421239764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following tests are type of non-parametric test?

A. t-test

B. ANOVA test

C. Mann-Whitney U test
D. Kruskal-Wallis test

Choose the correct answer from the options given below:

l. Aand D only

t-2

. B and C only
3. Cand D only

4. B. C and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 3421239764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[EfeiRId | T ®IF U U107 3{-UTcll URIev & UHR g 2

A, L Oe

B. UHIGT (U.U4.31.d1.0.) Giefo
C. B4 - fegei g udigm

D. ¥ - dIfeid TRI&m

- feu U faseut # ¥ §87T IR &1 99 DI
1. %dd A 3R D

Had B 3R C

3.%dd C 3R D

4.$HddB,C3ARD

Options :
1.1
2.2
3.3
4.4

I

Question Number : 111 Question Id : 3421239765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Among the given options which are NOT the feature of Urban Community?

A. Namelessness

B. Named Community

C. Simplicity of Life

D. Homelessness and Urban Slums
E. Social Heterogeneity

Choose the correct answer from the options given below:

1. A and C only

b2

. B and C only
3. Cand D only

4. D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 3421239765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A U T faaetl # 9 21 9 w158 9gam o fa=imdid 761 -

A, A

B. A1fHd Yga/™
C. Sila &l G

D. §OR BT 3R A i
E. i1foid fquadr

Hid feu U fdeedl § 9 g8t IR &1 994 DI
1. hdd A 3R C

2. HIAB 3R C
3. Hdd C 3ARD
4. $HIdD AR E

Options :
1.1
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2.2
3.3
4.4

Question Number : 112 Question Id : 3421239766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Network analysis is one of the management methods, and two common types of network analysis
are PERT and CPM. Which among the following are the correct expansions (full forms) of the
acronyms PERT and CPM?

A. Programme Evaluation and Review Technique
B. Planned Estimation and Result Technique

C. Concrete Plan Modelling

D. Critical Path Method

Choose the correct answer from the options given below:
1. A and C only
2. Aand D only
3. B and C only

4. B and D only
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 3421239766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jedd (Terrel) fa2elyur e &1 U fdf¥ ¢ 3IR &l U UHR & Head (a9l ue
(U135 3R R W Ulun. §1 FgfaRad § 9 &F 9 9iendg 9| ud (d13.3RAT) 3R
i divg & geiquiqamg o

A. UM 34U Us R cHldh / HdhH Jedidh- IR Ui dh-idh
B. WS THHIH US Rulee ¢dHId / g fidhdd 3R URUH dh-ldh
D. Ihiedhd Uiy HYS / Hifdd gy fafy

- feu e faseut # ¥ #T IR &1 99 DI
1. Pdd A 3R C
2. HId A RD
3. $HadB 3R C
4. HadB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 3421239767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of Mass approach of Health Education?
A. Television
B. Newspaper
C. Role Play
D. Home visits

Choose the correct answer from the options given below:

1. Aand C only

f-2

. A and B only
3.B. C and D only

4. A. B and C only

Options :
1.1
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2.2
3.3
4.4

Question Number : 113 Question Id : 3421239767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad § 9 $H U W& R181 & fo7u s HHTH & 381800 g 2

A. GG / ¢efifdsH
B. YHMHR U

C. Yf#yepT FHafe Riaw)
D. =Rl &1 SR (81 fafere)

Hid QU A el #§ ¥ F81 IR D1 989 i
. had A 3R C
2. Hdd AR B
3.Hdd B, C 3R D
4. HAdA, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421239768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Of the given options which ones best present the characteristics of Primary Groups in the
Society?

A. Small 1n size (members and area)
B. Informal structure

C. Indirect/superficial relationships
D. Indirect cooperation

Choose the correct answer from the options given below:

1. A and B only

b2

. A and C only
3. B and C only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421239768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%ﬁ;ﬂqﬁm@fﬁ@f I I AN H WrAiHe Tgl & A= & 48 Wi 9 ueria

A. MHT H B (U™ 3R &ABdA H )
B. AHTENG I3
C. YT / Idlg! o=

D. 3 Tga

i feu U fgsedl # 9 Fg1 IR &1 99 BT
1. had A 3R B

hdd A 3R C

3. HddB 3R C

4. Hadd B 3R D

Options :
1.1

t-2
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3.3
4.4

Question Number : 115 Question Id : 3421239769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are part of 4 main criteria for identifying any disease/event as a Public
Health Emergency of International Concern?

A. Does the event have a mild public health impact

B. Is there a risk of the event spreading internationally
C. Is the event unusual or unexpected

D. Is the event transmitted by feco-oral route

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A.Band C only

4. B, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 3421239769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafead 7 9 & J Tl I/ 91 & SIRIFTE TSR BT 5 WA ATATdBIe Sl
Ul &3 & 4 G U] DI UFT ¢-

A. 191 D He, o WG YHId g

B. 191 & SR U Y o BT SRgH g
C. 1 91 ST HYdl SEuTfad g

D. 1 Y-l §ol-Hd Uy gRI YdIRkd gidl g

A fau U fadedl § U ¥8T 3R &1 994 DI
. HAd A3RB

2. HIdB AR C
3. Pad A, B3R C
4. ®hdd B, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 3421239770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following management techniques are quantitative methods, and not methods
based on behavioural sciences?

A. Cost-benefit analysis

B. Input-Output analysis

C. Management by objectives (MBQO)
D. Personnel Management

Choose the correct answer from the options given below:

1. A and B only

b2

.C and D only
3. Aand C only

4. B and D only

Options :
1.1
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2.2
3.3
4.4

Question Number : 116 Question Id : 3421239770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad § O &4 O UdtH & db-id dgR - o IR el fafiai Tgf sfcen aprds
A 2

A. ANTd - A1 3=y

B. 3N - [FFId fa=emor

C. FeqRD UdeH
D. HIHD UdeH

1 feu U faseul # 9 #g1 IR &1 99 DI
1.hdel A 3R B

Had C AR D

3. Had AR C

4. Hdd B AR D

Options :
1.1
2.2
3.3
4.4

]

Question Number : 117 Question Id : 3421239771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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While measuring obesity the skin fold thickness is measured using Harpenden's Calipers at four
sites. Among the options given below, which sites are NOT considered for measuring the skin
fold thickness?

A. Subscapular region
B. Suprailiac region
C. Mid triceps region
D. Mid Gluteal region
E. Mid Thigh region

Choose the correct answer from the options given below:

1. Aand B only

t2

. B and C only
3. Cand D only

4. D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 3421239771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AleTd &l HIYd HY, 9] 9o &l HIels &1 IR ¥l R gRUSH by I HI91 ST 8, Hid
feu T famedl H U ®F U Ridl W @dl gad &1 HieTs H1YH o [l [ddR «<Fg1 a1 irdl g

A. B ADTYY (GURDYR) &
B. YOG a® (YUIBu®) &3
c. 7y AR (e gy &
D. e fdd (7S 1gfead) &

E. He] SiH]/ 3 &

A fau e famedl § 9 ¥8T 3R &1 994 Dol
. Hdd A 3R B

2. HadB AR C
3. Hdd C 3R D
4. Had D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 3421239772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Water intended for human consumption should be both safe and wholesome. Which among the
following are included in the definition of safe and wholesome water?

A. Free from colour and odour

B. Free from harmful chemical substances
C. Free from all minerals and electrolytes
D. Free from temperature variations

Choose the correct answer from the options given below:

1. A and B only

]

.C and D only
3. B and C only

4. A. B and D only
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 3421239772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H-d IUYIT & SHUURT o o0 St GRIET 3R Wregds giH| gl diigu | Hafafad § 3 &H
Y fadh ey YRIET 3R WIS STc] b1 URUTST H FiETferd g 2

AT 3R TiY Y Gk
B. BIFGRS IS TSl T g

c. gyt @I 3R fagad suge 9 g
D. d9HH {3131 9 gard

Hid fqu U A eul & 9 g1 IR D1 98 DI
].hdd A 3R B

2. %dd C AR D

3. Hdd B AR C

4. HIdA. B3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 3421239773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are TRUE regarding the MTP (Amendment) Act, 2021?

A. MTP is allowed up to 24 weeks of gestation with the opinion of one Registered Medical
Practitioner (RMP)

B. MTP can only be performed by a Registered Medical Practitioner who has done post-
graduation in Obstetrics and Gynaecology.

C. Beyond 24 weeks of gestation, opinion of a medical board is required for MTP.

D. Beyond 24 weeks of gestation, MTP is allowed for significant foetal abnormalities.

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 3421239773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeiad ® € o1 ¥ fabed th A0, (@ie) g, 2021 & G H 9 ¢ -

A. HTHd & % Trg 0 (6l T Uslipd fafbds (mReA ) & wml 3 Trdid
o QA e o e s g e & o R e A
faT # WRI-|1ds fhan gl
C. GHdT & ¥ JLIg & 915 TH.ALTL B & 3R R Rid 9IS B 7 &t sia=adhdl
D. gﬂﬁ%%w YUdlg & dle, Hgdqul Yoilg saHEare & fau va. .01 &3 &1 eafd
|
4 fqu MU faset! & 9 F1 IR o1 99 i

I.hdd A 3R B

2. had B R C

3. $had c ARD

4. Hdd A IR D

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421239774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are types of Non-Random Sampling?

A. Cluster Sampling

B. Lot Quality Assurance Sampling
C. Quota Sampling

D. Purposive Sampling

Choose the cerrect answer from the options given below:

1. Aand B only

[

.C and D only
3.B, Cand D only

4. A and C only
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421239774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iR H 9 P U f-gefsd Uldagd & UBR g 2

A. Gyg Uid=gA

B. Gof TUTdT HTYIE Uidda-
. FHaai @len) ufdaaq

D. e Uldaa

Hd fqu T fds el 9 Fp1 IR DI 989 i
|. hdd A R B

. $Hdd C AR D

3.Hdd B, C 3R D

4. HAd AR C

Options :
1.1
2.2
3.3
4.4

t-2

Question Number : 121 Question Id : 3421239775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The mother of a two vear old child brings the child to PHC with complaints of diarrhea with
passage of blood in stool, low grade fever and no other danger signs. On examination. the child
has sunken eyes and skin pinch goes back slowly. Which of the following are correct regarding
management of child?

A. The child should be started with Plan B of oral rehydration depending on weight of child.

B. Antibodies should not be started.
C. Child should be reassessed after 30 minutes and sent home after advising about danger

signs.
D. Zinc to be given as an adjunct to therapy.

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Aand D only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 3421239775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U ol 9T d=d D1 A7 U108 H 30 T I SHRAT (3dUR) & 1Y 7d & 1Y Iad 3H
Yl geb JUR B! FRIBEd & Y TS | dod H DIS 31 G & &0l gl 4| Siid d3-d R g
@1 3fid 41 g3 dl 3R @dl ®l ged| o W ag dR-IR gHeqe g 12 4| g & Udyd &

Yol O fgfafad 0 4 o194 9 [dhed 9l g 2

A. &= ©I A Y (3Re) GASIcHRUN & oIt WM - i 3R™ & a1 ST 91ig Uy

B. Udlaiied / Uidsiidd gl (6T S dIigU |

o ﬁaﬁ 30 fBHe UgId G-: Siid S=1 dIfgU 3R Wl & A&l & dR H Hellg e @R ol
ElIRY

D. SUAR ¥ i Bl 38l & U H {31 o1 difgul

- feu U faedt # 9 Het SR &1 99 DI
1. HdcT A 3R B
2. HAAd AR C
3. ®dd A 3R D
4. HadB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 3421239776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are examples of Social component of environment?

A. Customs
B. Culture

C. Housing
D. Rodents

Choose the cerrect answer from the options given below:

1. Aand B only

[

.B and C only
3. Aand D only

4. C and D only
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 3421239776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFgfaRad § 9 o1 U URaR & GHIfSd gedh| & 3a1giu g 2

R - fRas
Hepld

I
Ddh

4 flRu U fd el # 9 87 SR &1 99 DI
1.Hdel A 3R B

. HAd B AR C

3. ®dd A SR D

4. Had C 3R D

Options :
1.1
2.2
3.3
4.4

oNnwp

t-2

Question Number : 123 Question Id : 3421239777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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When 2 screening tests are applied in parallel, the effect is:

A. Net Sensitivity increases
B. Net Sensitivity decreases
C. Net Specificity increases
D. Net Specificity decreases

Choose the correct answer from the options given below:

1. Aand C only
2. Aand D only
3. B and C only

4. B and D only
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 3421239777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST &1 RPITT (Sl Tieror gy fpd ord €, i U gl g -

A. F¢ Ydeagiidar 9¢ Srdl 8
B. Hc YdeAldd &H gl Wil ©
c.dc faRwarag Srdi g

D. He [ARyd $4 gl 91l 8

- feu U fasett # ¥ F1 IR &1 99 DI
1. Hdd A 3R C

HAd A 3R D

3. HdAB 3R C

4. HadB 3R D

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 124 Question Id : 3421239778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are correct statements regarding dose, route and frequency of injectable
contraceptives?

A. DMPA 150 mg. subcutaneous, every three months
B. DMPA 150 mg, intramuscular, every three months
C. NET-EN 200 mg, intramuscular, every two months
D. NET-EN 200 mg, intramuscular, every three months

Choose the correct answer from the options given below:

1. A and B only

b2

. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 3421239778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafeIad @ 9 &9 ¥ &Y 3490717 (GSa=H ¥ & 5 arel ) 74 RIS S g, A
IR IRERA hucH A LI © -

A. _ﬁqﬂﬂﬁr{ 150 mg, QW, ﬂﬁffﬂq%ﬁ
B. SLTAULT. 150 mg, 3d:URy, ufa dH Arg |
C. T3 T, 200 mg, 3d:UMY, Ufd &l AG H
D. UH.3 310, 200 me, 3020, Ufd d9 AR H

A fau U faded] # U It 3R D1 994 DIfoIs:
. HAdA3RB

2. HadB AR C
3. %dd C 3R D
4. Had A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 3421239779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following vaccines can be used up to 4 weeks according to Open Vial Policy
(2015) as of June 2024?

A. Oral Polio Vaccine (OPV)

B. Measles and Rubella (MR) Vaccine
C. Pentavalent Vaccine

D. Japanese Encephalitis (JE) Vaccine

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3.B.C and D only

4. A.B and C only

Options :
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1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 3421239779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 1 9 fod del (dadi=) ol <3110 arad diferd (2015) & 34HR 4 YdTE db
SUGNT a1 ST Fehell § (S, 2024 TP Halh)2-

A. 3R giferdl g (3T dt d)
B. HIved U3 Fedl (TH.3R.) daiT
c. Uerdaie dadH
D. SIUA TS UfhaRiey (o 3.) daiq
4 fSu U faeedl § 9 F8T 3R 31 994 DHIfoIu:
|.®dd A 3R B
2. Hadd A 3R C
3. Hdd B, C 3R D

4. HAdd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 3421239780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

!TIST X : LISTII
Theories of Social D i

Chianie escription
A | Functionalism I. |Economic and cultural developments are the root cause of social change
B. |Revolution II. |ERelates to dialectical models of social change
C. Develcfpmem [1I. | Relates to linear development models of social change

Theory
D. |Conflict theory v Svystem of ex_p_lmratmn 1_ner~_‘1tabl}-'_leads to some form of social revolutions
and the conditions also invite social change.

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-IV. B-1, C-1II, D-III
3. AL B-IV, C-1, D-II

4. A, B-TII, C-1IV, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 3421239780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T 1
TR uiade éﬁ“

g
A |v@raE 1 |enfife 3R giefos fomm Imife® ufiadd & 98 ®RU &
B. @i 1L |amifere ultad & fafts ggrae disa U efia 2

faerg fagia 1. | grEifoie uliad & i f[ae™ & ik Al J Teidd o

. : . | =T @ 3 e U U T UER & QHieid ®ifddl o o ad
D |WE | IV- | i oot of reifor SR a8 A el

AT fSU U fasedl § U Igt 3 &1 994 DIfoTu:

1. A-I, B-II, C-III, D-IV

I

. A-IV, B-1, C-1I, D-III
3. AL B-IV, C-1, D-IT

4. A-II, B-1II, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 3421239781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI
National Health Policy 2017 Targets

LISTII
Target Percentage (%) by

maintain controlled disease status’

2025
A | Met need of family planning at national and sub-national level I |25%
Decrease in proportion of households facing catastrophic health P
B. : ] II. |40%
expenditure, from the current levels
C. |Reduction in prevalence of stunting of under-five children III. | 80%
D. Enown hypertensive and diabetic individuals at household level, who 900

Choose the correct answer from the options given below:
1. A-IL B-IIL. C-1, D-IV
2. A-IV. B-1, C-1II, D-III
3.A-IL B-1, C-IV, D-III

4. A-IV, B-11, C-II1, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 3421239781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

& 1
ﬂ@ﬂﬁmﬂﬁlﬁftﬁ,zmv mzsaﬁggfuﬁ‘m
A | TP 3R FUETY TR U uRER FUeH @1 sMavgedi I gu e | L [25%
fquirehTell T oY o1 WHAT ®Y I URAGRI & SUrd H A I |40 %
Uid a4 § &9 & g 3§ S5iddp™ (i) § S 111 |80 %
o | IRER R R = 3 R ST/ R ST MTAGE. | 110 [0,

1< fGU U [qhedl § U T IR &1 994 DI
I. A-IL, B-IIL, C-I, D-IV
2. A-IV, B-1, C-II, D-III
3. A-IL B-I, C-IV, D-III

4. A-IV, B-11, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421239782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI

LISTII

6-20 persons who talk freely and spontaneously about a certain topic or

Discussion

el L health problem guided by a facilitator
B. |Demonstration II. | Series of speeches on a selected subject
; A moderator, along with 4 to 8 persons, who are qualified to talk about the
C. | Symposium I11. SR ; o : :
topic, sit and discuss a given problem in front of a large group or audience.
D Focus Group IV Carefully prepared presentation to show how to perform a skill or

procedure.

Choose the correct answer from the options given below:

1. A1, B-III, C-I1, D-IV
2. A-IV, B-1I, C-1II, D-1
3. A-L B-II, C-IIL D-1V

4. A-II, B-1V, C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421239782 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

Eal LGl w—
T b ARTGRA & 620 AR R dl Ferva Sfora e @
A |T9a gftget M | SRA g s daedid o &

a2 :
B. | A 11 |fodi 9afad fdwa o= Y9l @1 g@an

. ICEERIL - 4-8 Il & 1Y U HiS<ed o [op gl faug W aiddid &3+ 917 Bl
| Fermiferam |93 @ AR go g 91 didral & goe foeddl o iR uftedl avd §

BHiHd . |/ o= @ v & & fea vafRid a3 & U eFyde
B, | e . aawaﬁrrg%ﬁ R
= fSu U f9dedl § U 9gt 3R &1 99 DIIT:

1. A-I, B-III, C-II, D-IV

B

. A-TV, B-II, C-III, D-I
3. A-I B-IL C-IIL, D-IV

4. A-III, B-1IV, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 3421239783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Tvpes of Health Facility | Population covered

A |HWC-5HC (Rural)| I [13000-20000
B. |UHWC (Urban) II. | 30000

C. |HWC-PHC III. |3000-5000

D. |Utban HWC-PHC | IV. |20000-30000

Choose the correct answer from the options given below:
1. A-IV. B-III, C-I1, D-I
2. A-1, B-II, C-III, D-1IV
3. A-IIL B-1, C-IV, D-II

4. A-II, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 3421239783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
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I
ﬁmﬁgnmm

i

e R
A |TaSsg - TH U HL @H | L[ 15000 - 20000
B. |gud &g 4l (e II. | 50000
C. |vgSecg bl - i Tl I11. {3000-5000
D |mediwEssyd - i Tmdl. | v 20000-30000
A1 feu 71U fash el § 9 T8t IR &1 994 HIfIT:

1. A-IV, B-11I, C-II, D-I
2. A-1, B-1I, CIII, D-IV
3. A-III, B-1, C-1V, D-I1

4. A-I1, B-1IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 3421239784 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Elements of a ‘Plan’ Description of the element
A | Bobici i A r_,eql_le_nce of activities designed to impletnent policies and accomplish
objectives
B. |Programme II. | A time sequence for the work to be done
A set of rules for carrying out work to ensure maximum use of resource and
C. |Procedures HE: |4
efforts
D. |Schedule IV, | The guiding principles stated as an expectation not as a commandment

Choose the correct answer fr

1. A-IIT, B-1IV, C-I1, D-1
2. A- IV, B-1, C-III, D-II
3. A1V, B-II, C-1, D-IT

4. A-II. B-II1., C-1V, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.act

om the options given below:

: 3421239784 Question Type : MCQ Option Shuffling : No
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AT 1S 1Y &I 11 DT e Hifoy

I
i
u“sw@w — ﬁ_‘ﬁﬁ
N ; feharepaiTal @1 U ford fifdl & sraiaa iR 32X Bl QU e &
' - | fere siYysicud fooar S e
B. |®rdEd I ({9 91 & o o 999 &9
¢ |mrsfafa = fopdt @ & faware o e et @ e ford Tanet iR ot &1
| | efiae R Sudi gHEd B Ok
D. |Frie - | e Rigia ! iexie! & &0 # T8 afes germst & w0 H
' " |Sfcafea o v s
A fau U fasedl # U Igt 3R &1 99 DifoIs:

1. A-IIT, B-IV, C-II, D-I
2. A1V, B-1, C-III, D-1I
3. A-IV, B-II, C-1, D-IIT

4. A-I1, B-III, C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 3421239785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Health Days Date of the year
A | World Tuberculosis (TB) Day| 1. | October 10
B. | World No Tobacco Day [I. |December 1
C. |World AIDS Dav I, | May 31
D | World Mental Health Day IV | March 24

Choose the correct answer from the options given below:
1. A-IV. B-III, C-I1, D-I
2. A-IL B-1V, C-1, D-1II
3. A-L, B-III, C-II, D-1IV

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 3421239785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
.2 SN
fay qufee @1a) Gaw | 1 [smegEr 10
fy g fuyfea | o [RamEet
fgy gy fgag 1. |93 31
fay AFYS W fgag | v | A 24

AT faU U fadhedl § U It 39 &1 994 DIIU:

1. A-IV, B-11I, C-II, D-I

olo|w|»

2. A-IL, B-IV, C-1, D-III
3. A1 B-III, C-II, D-IV

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 3421239786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI
Health Committee

LISTII

Chief Recommendation

PHC for every 30,000 population , female health workers in place of

#, | Fhate Commitie L ANM and male health worker in place of malaria surveillance worker
B Mudaliar 1 Separating of staff for family planning and utilising basic halth workers
| Committee | for all duties except family planning.
, Development of PHC (Primary Health Centres) for comprehensive
. |MukersComimistse | L services with each PHC for 40,000 population
p: | Kk IV | Constitution GEAI Tndia Healti Service on patess of TAS
Committee

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-1I

2. A-IL B-IIL C-1, D-IV

3. A1 B-II, CII, D-IV

4. A-III, B-1V, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 3421239786 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks :
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AT 1S 1Y &I 11 DT e Hifoy

1 Tt 11
a |sdriin . Uid 50,000 BT 988 R U1 09 9. U .00, & WH W diecr @
o * | AR et AR Sl @ =iE W gy ey sHf
RAR A & o e HHaRl FR o W@ ol o uiEr
B. | e afffd s S e 91 i S il

C. |qpoll giEfa | IL

UE Sarit & o i va o (nufie wred o &1 9o, SR Ul
40,000 I TSI U Udh U1 0 4l

D. ﬁﬁqﬁ IV. | 35 0. & U WX 3Rad YR g 9al &1 7161
1 fGU U fasedl # U ol 3R & 99 DI

1. A-III, B-1, C-IV, D-II

(]

. AL BIL C-I, D-IV
3. A-I, B-II, C-III, D-IV

4. A-IIIL B-1V, C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id
Correct Marks : 2 Wrong Marks : 0

: 3421239787 Question Type : MCQ Option Shuffling : No
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Match the List-T with List-IT

LISTI LISTII
Data Scale of measurement
A |History of fever as Yes or No I | Discrete
B. | Total number of previous pregnancy I[I. | Ordinal
C. | Temperature measurement in degree celsius °C III. | Dichotomous
D | Satisfaction level with hospital services on 3 point Likert scale| TV | Interval

Choose the correct answer from the options given below:
1. A-IIL, B-IIIL. C-IV. D-I
2. A-IV. B-1, C-I1, D-III
3. AL B-1, C-IV, D-II

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 3421239787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

s i
A |SRosfaem. a8 & ©uH 1 |fafgea
B. |gd THiaedral &1 oo 9= 1L |Aga®
c. |f53t Ofcemy ec) & amoHE ST HEIA . | fgyrei
D. |5 fdg TEdhe UHM TR SRUdre Jaraii & fog §qfP &1 &R | IV. | SR
A1 feu 71U fash el § 9 T8t IR &1 994 HIfIT:

1. A-II, B-1II, C-IV, D-I
2. A-IV, B-1, C-I1, D-III
3. A-III, B-1, C-1V, D-I1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 3421239788 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Tyvpes of water-related disease Example of disease
Those due to presence of an aquatic host 1. | Cholera
Those due to presence of an infective agent in water II. | Trachoma

Those due to disease carrving insect breeding in or near water | III. | Guinea worm

ola|w|e

Those transmitted because of inadequate use of water IV | Malaria

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-IIL, B-IV, C-1, D-TIT
3. A-IIT, B-1, C-IV, D-II

4. A-IV, B-III, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 3421239788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A |y Wit B IURYT o SRS g I L |29 (@
B. |50 H it UMW $4® &1 3UUfd & DR - ard I IL |SHE
C. |d 91 34 Fdhe Ui S dIc I9TaT8 HIT & SRUIBIA dra 397 | 101 [ Fifad
D. |l & U IUGNT & BRI I i del I V. | gaifar

A1 feu 71U fash el § 9 T8t IR &1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL, B-IV, C-I, D-TII
3. AL B-1, C-IV, D-II

4. A-1V, B-111, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 3421239789 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Term Definition
Biological Studies management and business, medical, forensic and education
A i L. :
Anthropology anthropology
B. |Social Anthropology | 1L Studies the *way of 11_fe or development of social and cultural life of
people, and cultural variations
Cultural Deals with the institutions, organizations, social groups and human
C. i 15 S e P
Anthropology relationship of the past and present.
D Applied v Study of races and evolution of mankind by physical measures of skulls
© [ Anthropology " | and skeleton and inherent racial characteristics.

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-IV, B-III, C-11, D-1

3. A-l, B-III, C-II, D-IV

4. A-IV, B-1I, C-1II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 3421239789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

GEiR II
g TaT
$OH HatH SR sau, e, BRI 3R e arafage @

A, [oifae HFE O | L e fadn Sral 8
p |TARGERT | | S5 SlaT Il oy gl & FEIed SR GRPTI Sia 2R
- |fagm - | wrmta faftmaret &1 serg g e g
o |TEfdE A | |67 R A & R WeHT, S WHET SR AFG dEu ¥
p |SER AR | . |7 SR A UREE | ST 7 $(eE 30 $UId R $o1d &
"~ |fagmH | i ST YT ST A O & SR O fl @Il 8

e fg T faded! 7 § HEl SR BT =0 DI
. AT B-IL C-IIL DIV
2. AIV, BIIL C-IL DI
3. AL, B-IL C-IL, D-IV

4. A-IV, B-11, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 3421239790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

1ISTI LISTII
A | Accident I. | Impairment
B. |Loss of Foot II. |Handicap
C. |Cannot walk III. | Disease
D |Unemployment | IV | Disability

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A1, B-IV, C-II, D-TIT

3. A-IL, B-IIL C-1, D-IV

4. A-III, B-1, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 3421239790 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1d 1Y &I 11 DT e Hifoy

A1 = 0
A |gde L | g &fddm
B. |IR& &ffa 1L |&men
C. |ge- # srgmy | L |3AT
D. |RR Iv. |feegimar

" fGU U 9 edl § U I8t 3R &1 999 BIIU;

[. A1 BII, CIIL, D-IV

2. A-1. B-IV, C-II. D-TIT

3. A-IL, B-IIL, C-1, D-IV

4. A-III, B-1, C-IV, D-II

Options :
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1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 3421239791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Method of classification of food Category/Example
Classification by origin I. |Fats

Classification by chemical composition | II. |Fruits

Classification by predominant function | III. |Food of atimal origin

ola|w|

Classification by nutritive value IV. | Energyv giving foods

Choose the correct answer from the options given below:
1. A-IV. B-III. C-II, D-I
2. A-IV. B-1, C-II. D-III
3. A-IL B-1, C-IV, D-II

4. A-III, B-11, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 3421239791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

N S e
A | SO & SMYR R Fffeo I |ad
B. | T TOieH & YR W @i | 1L [®a
C. |wHId U & HTUR TR F B0 I1L. | Siq 3t & @re gard
D. |UIN& 9H & HIYR T F a0 Iv. | St gt are uer
Aid feu U faded! § § Fgl 3R &l 994 Hiflu:

1. A-IV, B-11I, C-II, D-I
2. A-IV, B-1, C-II, D-III
3. A-III, B-1, C-1V, D-II

4. A-III, B-11, C-1, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 3421239792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LIST II
W. H. 0. Region City Headguarter
Africa I. | New Dellu
Western Pacific II. | Alexandria

Eastern Mediterranean | III. | Brazaville

South East Asia IV, | Manila

o|la|w|e

Choose the correct answer from the options given below:
1. A-IIT, B-II. C-IV, D-I
2. A-L, B-III, C-IV, D-II
3.AIL B-IV, €A1, B

4. A-II, B-IV, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 3421239792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

AT 1 T
BT 1 |73 e

i uRiid (AR ®) 87 | 1L | T
udf YAEErRET & 1L | sifae
Gl&ron gt gk v, | =i

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-III, B-II, C-IV, D-1I

olo|w|x

2. A-1, B-III, C-1V, D-I1

3. A-IIL, B-IV. C-11, D-I

4. A-IL, B-1V, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421239793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Agent Disease
H3N1 I. |Pandemic A Influenza 2009

Human herpes virus 6| II. | Bird Flu (Avian Flu)

HIN1 II1. | Associated with Kaposi's Sarcoma in AIDS patients

o|la|w|e

Human herpes virus 8 | IV | Exanthem subitum

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-II, B-1, C-IV, D-IIT
3. A-IL B-1V, C-I, D-IIT

4. A-1, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421239793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

L T
A [B5n I |USf® U @fye Ferr) SUqes 2009
B. |AFagde ooy 6 | 1. |F8 T (UET T
c. [HIN 1. | HUId IRe ™ ¥ Yafta, teg ifmr o
D. |AFa gufe aRy ¢ | Iv. | ualium gfeen
i< AU U [qhedl § 9 Wt R &1 994 DI

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1, C-1V, D-III
3. AL B-IV, G-I, D-IT

4. A-L, B-1II, C-IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 3421239794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTII

conjugate vaccine)

‘I_: IST I Route of administration (as mentioned in National Immunization
i Schedule of India updated up to Jan 2024)
A |BCG I. |Intramuscular (T.M.)
B. |Rotavirus vaccine (RVV) II. |Intradermal (I1.D.)
C J_apa.tllese Encephalitis . | ot
vaccine
D. PCV (Pneumococcal IV. | Subcutaneous (5.C.)

Choose the correct answer from the options given below:

1. A-IL, B-I, C-IIL, D-IV

2. A-II, B-IIL, C-1IV, D-1

3. AL B-IL C-III, D-IV

4. A-I, B-1IV, C-II1, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 3421239794 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

e - s bbb
A |@s L |sie: Ui (o Ty
B. m?ﬁq IL |3id: @4 (315 31)
D. m%ﬁ IV. | el (o )

A fau U fasedl # U Igt 3R &1 99 DifoIs:

1. A-IL, B-1, C-III, D-IV

2. Al B-1II, C-IV, D-1

3. A-L, B-II, C-IIIL D-1IV

4. A-11, B-1IV, C-1II, D-1

Options :

1.1

2.2

3.3

4.4
Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2

342123385

No

Question Id : 3421239795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

A screening test ‘T’ was applied to a population A’ of 10.000 individuals for screening disease
*X". The results of which are mentioned in 2 x 2 table as follows -

Disease "X “+ve " positivelDisease "X “-ve " negative [Total
Test "T° “+ve " positive [200 430 1350
Test “T° “-ve " negative [100 8330 R630
Total 1000 2000 10000

Sub questions

Question Number : 141 Question Id : 3421239796 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

What is the prevalence of disease *X’ in the population *A’?

Q000
i *®
© L0000

.ﬂxll{]{!
10000

]

1000
3.1
10000

4. @xlﬂﬂ
10000
Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 3421239797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the sensitivity of test “T°?

900

. ——x100
1000

.ﬂxlﬂﬂ
1350

B

3550x
" 9000

450
1350

4. x 100

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 3421239798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 176/186



8/31/24, 10:32 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

What is the specificity of Test *T'?

1. 290 100

1000

WAl x 100
0

[

8550
%

: 100
9000

8550
" R650
Options :
1.1
2.2
3.3
4.4

4 * 100

Question Number : 144 Question Id : 3421239799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the Negative Predictive Value of test in the given table?

900

; x100
1350

A0 100
1350

[

8550

8650

=*100

4, ﬂ><H}l]'
8630
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421239800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In comparison to the results obtained above, if the same test *“T’ (with an unchanged sensitivity
and specificity) is applied to population ‘B” having 10,000 individuals, with prevalence of disease
‘X’ being 25%. Which of the following statement best represents the result finding for Positive
Predictive Value (PPV) and Negative Predictive Value (NPV) compared to previous results
obtained from table.

1. Both PPV and NPV will increase
2. Both PPV and NPV will decrease
3. PPV will increase but NPV will decrease

4. PPV will decrease but NPV will increase
Options :
1.1
2.2
3.3
4.4

Question Id : 3421239795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

T X Pl S & AU 10,000 HAfGTl B SRS <A° H TSI Wiy <1 far /™ a1
ST TR0 2 « 2 difdisl § fgfaRad aid O IfcaRad ¢ -

RIT X “+ve " TINIed RAT X “ve * FHICd [
A& “T" “+ve " TITWIicd [900 450 1350
A& “T" “ve " [HIICG [100 8550 8650
B 1000 9000 10000

Sub questions

Question Number : 141 Question Id : 3421239796 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks

: 0

ST <A H I X Bl AUDHA Tl g 2

l 9000 100
- 10000

2. 1350 #1000
10000

3. 1000 % 100
0000

5

4. 3650 100

10000
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 3421239797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRI&(0T T &I Yde=iad / Sfafad! o g2

900

. ——x100
1000

900
1350

[

%100

8550

. ——x 100
9000

450
1350
Options :
1.1
2.2
3.3
4.4

4.

%1

Question Number : 143 Question Id : 3421239798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tieror -1 bt fafRiyar/ Wik @ g?

900

. ——x100
1000

29 « 100
350

ta

8550
" 9000

8550

4, =100
8650

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 3421239799 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

&1 112 difeisp1 O udlern &1 (7feq sHuAd o & g 2

900
1350

1 %100

A0 100
1350

]

chi =100
8650

00
4, i =100
8650

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421239800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R T U URuma! &1 go1 §, gfe 331 ufveror -1 (3aikafdd dJag=iiedr 3R fafydr &
1) Bl 10,000 HfGdl el SHUBAT <ol TR {1 AT, S I <X Bl ATUdHdl 25% ¢ |
fafafad o & 91 Sy difddT ¥ Ui gU gd YR &1 da-1 § gififed s—am-d o
(Uldrdn) SiR [t HE1=d 9[ (T UL L) & foe aiRomal & 98 vaiRid @xdl ¢ -

1. gldldl. SR TA.Ul dl. giHf 9¢ S

B e I D e I A B 2R S R L

3. Ui didl. 9¢ e dfdsd UH.41 4l ©H Bl Sre
4. GO dl. &H gl Su dfh= TA.41dl 9 S

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 342123386
Question Shuffling Allowed : No

| ]

Question Id : 3421239801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
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There is a town "X’ in India which had 50,000 mid-year population in the year 2023. During this
year, there were 9,000 women in the reproductive age group in the town. In the same year, there
were 1.500 live births, and also there were 30 still births in the town. Among the live births, there
were 25 deaths of children in the age group of 0-7 days. There were 40 deaths of children in the
age group of 0-28 days of life. A total of 75 deaths were recorded in the age group of 0-1 year in

the town *X’ during the year.

Sub questions

Question Number : 146 Question Id : 3421239802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following best represents the calculation of the Crude Birth Rate for the
town ‘X for the year 20237

[

4.

1530

" 50000

x 1000

9000

1500
9000

1530

% 1000

x 1000

1500
50000

%1000

Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 3421239803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one among the following best represents the calculation of Perinatal Mortality Rate for the

town ‘X for the year 2023 (as per WHO definition more appropriate in nations with less well
established vital records)?

35

1500

35

[

9000

70

1500

70

dy

= 1000

x 1000

x 1000

x 1000

50000

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 3421239804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following best represents the calculation of the Infant Mortality Rate for

the town ‘X’ for the year 2023?

1. i x 1000
0
2. 75 x 1000
1530
105
: B x 1000
1500
4. 105 x 1000
1530
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421239805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one among the following best represents the calculation of the Post Neonatal Mortality
Rate for the town *X for the year 2023?

25

l. x 1000
1500
2. 321000
1500
40 _
3. x 1000
1500
4. 13 x 1000
500
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421239806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following best represents the calculation of the expected number of
pregnant women in town ‘X’ in the year 20237

1. 1500 - 5%

f2

. 1500 + 5%
3. 1500 - 10%

4. 1500 + 10%

Options :
1.1
2.2
3.3
4.4

Question Id : 3421239801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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HRA &1 U e “X° © [oTgH a8 2023 H AL-HY ST 50,000 Ut U 98 &, 3T R H
9,000 HigellU SH-&H g a8 &f A1 34T avf H, 1,500 Sfifad R UaT gu, SR 91y g1 30 9d
fRrg1 U gu| Shifad s arat Rrgell # 25 sl & 9 0-7 a4 & 3mg ay § g1 51 40
Rl Sl gg 028 fad &b S A H gl 151 39 WX X H 341 a¥ & SRM, 0-1 99 & 311y
a7 | o 75 RIY31 B gG o i TS|

Sub questions

Question Number : 146 Question Id : 3421239802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a8 2023 @ felU AR X Bl AT ($9) GG & BT URS e - & foie (afafad 4 9
S I 0T 99T § 2

I

[

4.

1530
9000

1500
9000

1530 1000
00

x 1000

x 1000

1500
50000

x 1000

Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 3421239803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad @ 9 S T T0ETay 2023 & o0 AeR X BT URAed (T 4 o8 97 Jd &
AR $© YUY U db ) Y &1 Yd9¥ &J Y UeiRid Dl g (S, U, 3. B g7
& HFYR Sl fb Iuekd © 3 21 & U ford arged Rbie o1 3fwsl (R gld 9|

l. ok x 1000
1500
5
2. 2341000
9000
3 4L x 1000
00
4. i>-<]CI'[I[]
50000
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 3421239804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁﬁ@ﬂﬁﬁdﬁﬂ T 01 Y 2023 H e X H TR G & DI YdYY 9 Y YR Sl

l. i x 1000
00
2. L x 1000
1530
105
3. x 1000
1500
4.1D5 x 1000
1530
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421239805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeIiRad © 9 &9 T 01 98 2023 & AU UeR <X H URe-[Hg-ed (Fauiid & 579 TYT)
e @1 Y498 ¥ 4 UefRid axdl g 2

5
l. : x 1000
00
5
o 3 x 1000
1500
40 .
3. x 1000
00
4, 2 x 1000
00
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421239806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafRad § 4 & 1F T 70H1 99 2023 H [ER X0 H THadl Afgarsi &1 féd We o
49y U Y UeRid vdi g 2

1. 1500 — 5%

(]

. 1500 + 5%

3. 1500 - 10%

4. 1500 + 10%
Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 186/186



